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Unit7-L 1&2

Divide Multiples of 10,100,1,000

Mr Mohamed Ibrahem N
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You can use different strategies to solve these equations.

One Way Use basic facts and place value.
dividend divisor quotient

!
24 =-3=8
24 tens +~ 3 =8tens so, 240-+3=80
24 hundreds + 3 = 8 hundreds so, 2,400 +3 =800
24 thousands = 3 = 8 thousands so, 24,000 = 3= 8,000

IR Patterns

Another Way Use the relationship between | How can you use the
multiplication and division. pattern with zeros to
3 X 8 =24 s0.24 ~3=8 divide other multiples
3 X 80 = 240 so, 240 +3 =380 |©f10,100, 0r1,000?
3 X 800 =2400 so, 2,400 +- 3 =800

3 X 8,000 = 24,000 so, 24,000 =+ 3 = 8,000

Q 01143153175 https://t.me/MathG4aMrmohamed

3 X0 = O
3X1 = 3
3 X2 = 6
3 X3 = 9
3X4 = 12
3X5 = 15
3 X6 = 18
3X7 = 21
3 X8 = 24
3 X9 = 27

3xXx10 = 30
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Miguel bought 300 seedlings for his garden. He wants to plant an
equal number of seedlings in 6 rows. How many seedlings go in each

row? Show and explain your work.
{~owos
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How can you complete the equations?

@360nes+9= LZ, ones @9180-%3: §o

36tens ~ 9 = L{ tens 1800 +3= oo
—> 36 _\n\ WOdceds  + 9\= 4 hundreds 18,000 -3 = éo QO
Ac—

What is the quotient? Use a related multiplication equation to solve.

3. 48tens -6 =% 4. 35,000 =5=02) A ye§
6 X 8 teN\s =48 tens C_>5XELQQQ = 35,000
So,48tens ~ 6= R logpe S0,35,000 +5=_“Fooo

5. 560 7= 30 —>6. 360+4= Qo

, = \j\
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What division equation can you use to solve the problem?

SRS
7. A Dbus travels 3,000 miles in 5 days. It travels the same distance

each day. How far does the bus travel in one day?

M

3633 — ?2: éc&] AT

8. A school orders 420 math textbooks. The textbooks arrive in
6 boxes with an equal number of books in each box. How many

books are in each box?

L\Q_o . é——__—__,—l'“@ et bt
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9. Naomi reads the same number of pages each day. After 8 days 30_0‘4 %
she has read 320 pages. How many pages does she read /

each day?
320+ %= [}l Yoorgn

10. STEM Connection A construction team uses 7,200 nails
to build 8 storage buildings. They use the same number
of nails for each building. How many nails do they use for
each building? T

F200 -2 =00 Qs
— — ////—-—
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11. Jack watched a movie over 5 equal time periods. The movie 6° S :
was 150 minutes long. For how many minutes did he watch during \

each time period? L}
19t — S :lg 03 (>

12. Sonia logged her swim times for 3 months. She swam the same
amount of time each month and logged 210 hours. How many —_ ’—\—b \,\ouxs
hours did she swim each month? > '3\ s \oucs

A \D "'731" /’l’ﬁ \rervS 7\;\\\i~c$< — > Lo \cov

@Extend Your Thinking How can you explain the process used to find
: =~ 60?7
the quotient of 2,400 <+ 607 gl o x éo — 2_\_! o0
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Divlidend

40 = 8 5
DIVISOI’ Quotient
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